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ARRROINE A VAW A NURBLA

I ASSESSMENT — JULY 2018
CLASS: VI MAX MARKS: 20
SUBJECT: MATHEMATICS MAX TIME: 40 MIN
GENERAL INSTRUCTIONS

Answers to this paper must be written on the paper provided separately.
You will NOT be allowed to write during the first 5 minutes.
This time is to be spent in reading the question paper.
The time given at the head of this paper is the time allowed for w riting the answers.
Read the questions carefully, follow the same system of numberi Ing as given in the question paper.
All working must be clearly shown.
.The intended marks for questions or parts of questions are given in brackets []

1. The total population of a city is 16785101. If the number of males is 8987326, find the

number of females in the city. [2]
2. A car covers 675km in 12 hours. Find the speed of the car. [2]
3. Find the estimated quotient for 58+34. , [1]
4. Express the following number in words: i v~ IﬂAiaY‘ 5:15'\:”‘(‘ ’ [1]
84036251
5. Write the face value and place value of the even digits in 43265781. [2]
6. By rearranging the given numbers, evaluate 162 + 253 + 338 + 47. {Z]
7. Write the degree of each of the following polynomials: [2]
@i)25-%* ]
(i) 4%° — 15%° - 7x®
(iii) 5x -3
(iv) 3x + xy2 —8yz
8. Write the following symbolically: [2]
(i) The sum of 10 and x '

(i1) The product of x and -5.

9. If the line { passing through the points A and B also also passes through the point C then what

are the three points A, B and C called? f 1 [1]
e |

10. Use the adjoining figure to name: ;' F | f [2]

(i) points in its interior '{ .8 > / e

(ii) points in its exterior | ‘, / D /f“ N

iii) points on it . / \

(iii) p } a G ? i // \\‘ . [5]
11. From the figure write: /€ \F

(i) all pairs of parallel lines pa // - \ >

(ii) all the lines which intersect EF 74 \H

(iii) Lines whose point of intersection is G. /T "\ T




